DESCRIPTION:

HIGH DENSITY - MALE - RIGHT ANGLE

A

B

C

10.015 [£0.38]

+0.004 [+0.10]

+0.010 [+0.25]

—_—]

—_—

E

000000000000000
(O \ocococococoooo0000000 O

0000000000000 O0

|

ELECTRICAL:

CURRENT RATING:
CONTACT RESISTANCE:
INSULATION RESISTANCE:
VOLTAGE:
TEMPERATURE:

MATERIALS:

SHELL:
INSULATOR:

CONTACT:
RIVET:
BOARDLOCK:

SCREWLOCK:

RoS COWIPLIAINTT

@0.025 [20.64]

2 AMPS

15 MILLIOhms Max.
1,000 MEGOhms Min.
500V FOR 1 MINUTE
-50°C TO +100°C

SPCC, NICKEL PLATED

PA 9T-BLACK (UL94-0)

260°C PROCESS TEMPERATURE
BRASS, GOLD ENTIRE CONTACT
COPPER ALLOY, NICKEL PLATED
SPCC, TIN PLATED

ZINC ALLOY, NICKEL PLATED

§ r +0.010 [+0.25] —

-

0.350 [8.89] —<——|

44 PIN SHOWN

0.116 [2.95] —=—

F
$0.010 [+0.25] —

HARDWARE OPTIONS

PLATING OPTIONS

DO NOT SCALE FROM DRAWING

DIMENSIONS (IN.)
No. OF
BN | A B c D E F G
15 | 1:213 [ 0.984 [ 0.666 [ 0.090 [ 0.329 [ 0.496 | 0.639
30.80 | 24.99 | 16.92 | 2.29 | 8.36 | 12.60 | 16.23
b6 | 1543 [1.312 [ 0.994 | 0.090 [ 0.329 | 0.496 [ 0.639
39.19 | 33.32 | 25.25 | 2.29 | 8.36 | 12.60 | 16.23
44 | 2087 [ 1852 [ 1.534 | 0.090 | 0.329 [ 0.496 [ 0.639
53.00 | 47.04 | 38.96 | 2.29 | 8.36 | 12.60 | 16.23
G sy | 2732 | 2500 | 2.156 | 0.095 [ 0.329 [ 0.496 [ 0.639
69.30 | 63.50 | 54.76 | 2.41 | 8.36 | 12.60 | 16.23
2.644 | 2.406 | 2.081 | 0.095 | 0.422 | 0.555 | 0.701
r_ 4ROWS | 78 176 [61.11 | 5286 | 2.41 | 1072 | 14.10 | 17.80
181-YYY-113RYY 1
0.125 [3.18] SERIES
POSITIONS
[N 015
—f 026
044
062
078
GENDER
1= MALE
TERMINATION
1 = DIP SOLDER
SHELL PLATING
3 = NICKEL PLATED
RoHS COMPLIANT
(HIGH TEMP. PROCESS)

16 =& 0.120 HOLE / INSIDE GND STRAPS

17 = 4-40 INSERTS / INSIDE GND STRAPS

18 = 4-40 SCREWLOCKS / INSIDE GND STRAPS
43 =0 0.120 HOLE / METAL SHELL

45 = 4-40 INSERTS / METAL SHELL

48 = 4-40 SCREWLOCKS / METAL SHELL

53 = 4-40 INSERTS / BOARDLOCKS

55 = 0.120 HOLE / BOARDLOCKS

56 = 4-40 SCREWLOCKS / BOARDLOCKS

1=GOLD FLASH

181-YYY-113RYY1

THESE DRAWINGS AND SPECIFICATIONS ARE | DRAWN: DATE: 03-17-05
THE PROPERTY OF NorComp AND SHALL NOT PAM JENKINS -1 =
BE REPRODUCED, COPIED OR USED AS THE
BASIS FOR THE MANUFACTURE OR SALE OF | CHECKED: DATE:
APPARATUS WITHOUT WRITTEN PERMISSION.
SCALE: SHEET OF REV
Iq 1 1 3 10




DESCRIPTION:

PCB LAYOUT - RIGHT ANGLE - MALE

.984
492
215 ——
145
125
* PIN \05; 120 DIA. %
.03
o o‘ blolo
(O ocoogoo
opoo
% .037 DIA. —/’(I) I 010 f f
080 88
— N
j:‘— 00 %o
170
— =— 190
15 POSITION
2.500
9745 1.250
~——- .8795 .9255
~— .7845 .8305
~— .6895 —==— 7355 —=
5945 .6405
4995 .5455
4045 4505
.3095 .3555
.2145 .2605
1195 - 1655
0245 = 0705
oooooooooo‘j;ooooooooo
(O ©000000000000000000000 O
0000000000POOOOOO0O0D0
7o L 023
= 118
167 213
.262 .308
.357 403
452 498
.547 .593
l-— 642 ——1=— .688 —
737 .783
.832 .878
927 973
62 POSITION

6175
4275
2375
.0475

1.852
~— .655 926

= .565 ——=— .605 —

1.312
.385 656 —= 475
.295 .335 385
.205 .245 .295
115 155 .205
= | . 15
.025 1 065
oooo‘:)oooo .025
(O ococoogoooo O
0000pP00OO O
L .020
.070 — =k 110
’ .070
.160 .200
250 — .290 .160
.340 .380 .250
340
26 POSITION 430
520
2.406
1.203 .9025
.8075 7125 —
5225
.3325
28
1425 82
ooooocoooclnooooooococ 1 ‘
O 000000000000 000000O0 !
0000000000

.095
.285
475

O00000O00OO0O
OOOOOOOO(l)OOOOOOOOOO—f

f—

o o
190 238
380
-— 665 —==— .570 —!
855 760
78 POSITION

l=— 610 —=— .650 —

44 POSITION

181 SERIES

.020
110
.200
.290
.380
470
.560

HIGH DENSITY
RIGHT ANGLE

ARE FOR MALE

515
425
.335
.245
.155
.065

HOLE PATTERN SHOWN

% TYP.ON ALL SIZES
DO NOT SCALE FROM DRAWING

THESE DRAWINGS AND SPECIFICATIONS ARE | DRAWN: DATE: 03-09-06
THE PROPERTY OF NorComp AND SHALL NoT | C. SMITH —Us9-
BE REPRODUCED, GOPIED OR USED AS THE
BASIS FOR THE MANUFACTURE OR SALE OF | CHECKED: DATE:
APPARATUS WITHOUT WRITTEN PERMISSION.
SCALE: SHEET OF REV
FULL 2 3 10
oreon lp T 181-YYY-113RYY1




DESCRIPTION:

HIGH DENSITY R/A HARDWARE OPTIONS

It

It

0.141 t0.0ZO—l .|

] ®

181-YYY-113RYY1

THESE DRAWINGS AND SPECIFICATIONS ARE | DRAWN: DATE: 03-17-05
THE PROPERTY OF NorComp AND SHALL NOT WAYNE ROBBINS -1
BE REPRODUCED, COPIED OR USED AS THE
BASIS FOR THE MANUFACTURE OR SALE OF | CHECKED: DATE:
APPARATUS WITHOUT WRITTEN PERMISSION.
SCALE: SHEET OF REV
nn 3 3 10




T Life

Hu1Boe NapTHEPCTBO

000 “/1aiipINeKTPOHUKC” “LifeElectronics” LLC

MHH 7805602321 K 780501001 P/C 40702810122510004610 ®AKb "ABCO/IOT BAHK" (3A0) 6 2.CaHkm-Ilemep6bypee K/C 30101810900000000703 EUK 044030703

KomnaHus «Life Electronics» 3aHumaemcsi nocmaskamu 351€KmMpPOHHbIX KOMITOHEHMO8 UMIOPMHO20 U
omedyecmeeHHo20 rpouseodcmea om npoudeodumernel u co ckrnados KpyrHbix ducmpubbomopos Esporibi,
AMepuku u Asuu.

C koHua 2013 200a KoMraHusi akmueHo pacwiupsiem fuHelKy MocmagoK KOMIOHEHMO8 0 HarnpaeneHuo
KoakcuarbHbIl kabesb, Keapuesbie 2eHepamopbl U KOHOeHCcamopbi (KepaMuyeckue, nieHoYHbIe,
3neKmposiumuyeckue), 3a cuyém 3akntoyeHuss ducmpubbromopcKux 002060p08

Mbi1 npednasaem:

o KoHKypeHmocnocobHbie UeHbl U CKUOKU MOCMOSIHHbIM KITUeHmMam.

e CrieyuarsnbHbie ycrio8usi 07151 TOCMOSIHHbIX KITUEHIMO8.

e [lod6op aHarnoeos.

lMocmaeky KomMrnoHeHmMo8 8 ftobbix obbemax, y0oernemeopstouUx eawum MompebHoCMSsM.

lpuemnembie cpoku nocmasku, 803MOXHa yCKOPEeHHasi mMocmaska.
Locmaeky mosapa & ritobyto moyky Poccuu u cmpaH CHI™.
KomrinekcHytro nocmasky.

Pabomy no npoekmam u rnocmasky obpa3syos.

®opmuposaHue ckiada nod 3akaszyuka.

Cepmucgbukambl coomeemcmeus Ha rnocmassnseMyro npooyKyuUto (Mo XenaHu KueHma).
o TecmuposaHue nocmasnsemMou npodyKyuu.

e [locmasKy KOMMOHEHMOo8, mMpebyruux 806HHYIO U KOCMUYECKYH MPUEMKY.

e  BxodHoli KOHMposib Ka4yecmea.

e  Hanu4yue cepmugpukama I1SO.

B cocmaee Hawel komnaHuu opeaHu3oeaH KoHcmpykmopckuli omderst, npu3eaHHbIl MomMozamb
paspabomyukam, U UHXEHepaM.

KoHcmpykmopckuli omOen nomoaaem ocyujecmseums:

Pezaucmpauuro npoekma y npousgooumersisi KOMIOHEHMOS.

TexHu4eckyro no0depXKy rnpoekma.

Bawumy om cHaMuUs KOMroHeHma ¢ npoussoocmea.

OueHKy cmoumocmu fpoeKkma ro KOMIOHeHmam.

U3ezomoerneHue mecmosol rnnambl MOHMaX U ryckoHanadoyHbie pabomeil.

lattis % A g nncen TP intessil, Panasons (T U170 ATEL AMDIN EEEs

0KI ﬂ_[ [ SANYD Quaoww RENESAS  SIEMENS SHARP _ ’[:E”"—:,l
g Sy, [IE moxm s U AT €N [qaL

BOURNME

NS 7, Citwbond DALLAS Meare  Gllegns (inteD e | ™ RONM
International . . — .
..-nﬂm.n._,,.,_ w@ TosHiga ZETEX 'niemalofa Amphenol élantec uichicon FU]ITSU

Viccn 5, e Y Sice . @ su@ N [BTOKO

Ten: +7 (812) 336 43 04 (MHO20KaHANbHbI)
Email: org@lifeelectronics.ru

www.lifeelectronics.ru


mailto:org@lifeelectronics.ru
http://lifeelectronics.ru/

